
PHYSICS

BOOKS - NCERT FINGERTIPS PHYSICS

(HINGLISH)

PHYSICAL WORLD

Scope And Excitement Of Physics

1. The range of masses we study in Physics is

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_P2SOdULJGT5G


A.  to 

B.  to 

C.  to 

D.  to 

Answer: C

Watch Video Solution

10− 27kg 1060kg

10− 27kg 1055kg

10− 30kg 1055kg

10− 30kg 1060kg

2. CLASSICAL PHYSICS

A. microscopic world

https://dl.doubtnut.com/l/_P2SOdULJGT5G
https://dl.doubtnut.com/l/_W6gvns3fVqXL


B. macroscopic world

C. both microscopic and macroscopic world

D. cannot say

Answer: B

Watch Video Solution

3. CLASSICAL PHYSICS

A. Mechanics

B. light

https://dl.doubtnut.com/l/_W6gvns3fVqXL
https://dl.doubtnut.com/l/_VH2OX8LTct0g


C. heat

D. elementary particles

Answer: D

Watch Video Solution

4. Which of the following statemets is correct

?

A. Newton belonged to U.K., who

discovered law of gravitation.

https://dl.doubtnut.com/l/_VH2OX8LTct0g
https://dl.doubtnut.com/l/_qZx4xe7YcgsM


B. Einstein belonged to England, who

discovered laws of photoelectric effect.

C. John Bardeen belonged to France, who

discovered transistors

D. W.K. Roentgen belonged to Holland, who

discovered X-rays.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_qZx4xe7YcgsM


5. Which of the following statements is

correct?

A. Aeroplane is based on Newton's laws of

motion and steam engine on Bernoulli's

therorem.

B. Hydroelectric power is based on law of

thermodynamics and rocket propulsiom

on Bernoulli's theorem.

https://dl.doubtnut.com/l/_jjAbfafSZvCG


C. Computers are based on digital logic of

electronic circuits, while electric

generator on Faraday's laws of

electromagnetic induction.

D. Nuclear reactor is based on law of

thermodynamics and sonar on optical

interference.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jjAbfafSZvCG
https://dl.doubtnut.com/l/_lzTx6dMHuImu


6. Who first gave the concept of antiparticle ?

A. Niels Bohr

B. Ernest Rutherford

C. Albert Einstein

D. Paul Dirac

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_lzTx6dMHuImu


7. Sir C.V. Raman was awarded Nobel Prize for

his work connected with which of the

following phenomenon of radiation

A. refraction of light

B. reflection of light

C. scattering of light

D. dispersion of light

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YG7PEKt3UCTh


8. Which of the following does not depict the

correct link between technology and physics ?

A. Photocell - Photoelectric effect

B. Rocket propulsion - Laws of

thermodynamics

C. Optical fibres - Total internal reflection of

light

D. Fusion test reactor - Magnetic

confinement of plasma

https://dl.doubtnut.com/l/_BvIGmdWGYy0C


Answer: B

Watch Video Solution

9. Which year was declared as International

Year of Physics ?

A. 2002

B. 2003

C. 2005

D. 2007

https://dl.doubtnut.com/l/_BvIGmdWGYy0C
https://dl.doubtnut.com/l/_oTLRAK2jTLeB


Answer: C

Watch Video Solution

10. Generation, propagation and detection of

electromagnetic waves is the basis of

A. lasers

B. reactors

C. radio and television

D. computer

https://dl.doubtnut.com/l/_oTLRAK2jTLeB
https://dl.doubtnut.com/l/_1YHjvGGxIQO0


Answer: C

Watch Video Solution

11. Lightning was discovered by

A. Ohm

B. Thomson

C. Franklin

D. Faraday

Answer: C

https://dl.doubtnut.com/l/_1YHjvGGxIQO0
https://dl.doubtnut.com/l/_ZlyISr0ENh4n


Watch Video Solution

12. What is full form of GMRT ?

A. Ground Mobile Receive Thermal

B. Geometric Mean Reciprocal Titer

C. Giant Metrewave Radio Telescope

D. General Maintenance and Repair

Technician

Answer: C

https://dl.doubtnut.com/l/_ZlyISr0ENh4n
https://dl.doubtnut.com/l/_iiam3JZ2Szqi


Watch Video Solution

13. Electron microscope is used for

A. Counting microbes in a sample

B. whole mount study

C. Separating constituents of mixture

D. viewing ultra structure of cell

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_iiam3JZ2Szqi
https://dl.doubtnut.com/l/_uUP6o0Cr1CAi


14. Which of the following statements is

incorrect?

A. Bohr gave theory of hydrogen atom and,

Yukawa gave theory of nuclear forces.

B. Law of gravitation was discovered by

Newton and principle of intertia by

Galileo.

C. Laws of photoelectric effect were

discovered by Einstein and laws of

https://dl.doubtnut.com/l/_6uqsCV1clWLN


electromagnetic induction by Faraday.

D. Neutron was discovered by J.J. Thomson

and electron was discovered by James

Chadwick.

Answer: D

Watch Video Solution

15. ‘SONAR’ emits which of the following waves

A. Radio waves

https://dl.doubtnut.com/l/_6uqsCV1clWLN
https://dl.doubtnut.com/l/_9ZD7vSFzXlfO


B. Micro waves

C. Ultrasonic waves

D. Gamma rays

Answer: C

Watch Video Solution

16. Who invented the cyclotron ?

A. James Chadwick

B. James Clerk Maxwell

https://dl.doubtnut.com/l/_9ZD7vSFzXlfO
https://dl.doubtnut.com/l/_FdGQXzrkUKjO


C. Michael Faraday

D. Ernest Orlando Lawrence

Answer: D

Watch Video Solution

17. In which year didi Hahn and Mietner

discover the phenomenon of neutron-induced

fission of uranium ?

A. 1938

https://dl.doubtnut.com/l/_FdGQXzrkUKjO
https://dl.doubtnut.com/l/_4AXFW9jHb0C4


Fundamental Force In Nature

B. 1950

C. 1945

D. 1928

Answer: A

View Text Solution

1. Which of the following forces is not

fundamental force in nature ?

https://dl.doubtnut.com/l/_4AXFW9jHb0C4
https://dl.doubtnut.com/l/_CLVpsBBQNxR6


A. Gravitational force

B. Electromagnetic force

C. Strong nuclear force

D. Tension

Answer: D

Watch Video Solution

2. Arrange the following basic forces in the

increasing order of relative strength 

https://dl.doubtnut.com/l/_CLVpsBBQNxR6
https://dl.doubtnut.com/l/_aZX63hZAeXQ9


1. Gravitational force 2. Electromagnetic force 

3. Weak nuclear force 4. Strong nuclear force

A. 1,2,3,4

B. 1,3,2,4

C. 4,3,2,1

D. 4,1,2,3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_aZX63hZAeXQ9


3. What is the range of the gravitational force?

A. 

B. 

C. Infinite

D. 

Answer: C

Watch Video Solution

10− 2m

10− 15m

10− 10m

https://dl.doubtnut.com/l/_UmNOUvb8uCQL


4. Force of friction and tension in a string are

A. Gravitational forces

B. Electromagnetic forces

C. Nuclear forces

D. Weal forces

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_eg5eIhNq4vHc


5. Pick out the correct statements about the

strong nuclear force from the following. 

`S1: It is charge independent. 

S2: It is the strongest force in nature. 

S3: Its range is very large. 

S4: It is responsible for the stability of nuclei.

A. S1 and S3

B. S1, S2 and S3

C. S1, S2 and S4

D. S2 and S3

https://dl.doubtnut.com/l/_rf29g9iObA1R


Answer: C

View Text Solution

6. Inverse square law of distance is followed by

A. Gravitational forces

B. Electromagnetic forces

C. Both (a) and (b)

D. Neither (a) and nor (b)

Answer: C

https://dl.doubtnut.com/l/_rf29g9iObA1R
https://dl.doubtnut.com/l/_6vztlSlxskt8


Nature Of Physical Laws

Watch Video Solution

1. निम्न में से कौन सा संबंध सही है ?

A. E=mc

B. 

C. 

D. 

E = mc2

E = 2mc2

E = mc2 /4

https://dl.doubtnut.com/l/_6vztlSlxskt8
https://dl.doubtnut.com/l/_HVWKDzfVK6Qc


Answer: B

Watch Video Solution

2. Which of the following statements is not

correct regarding conservation laws?

A. A conservation law is a hypothesis based

on observations and experiments

B. Conservation laws do not have a deep

connection with symmetries of nature.

https://dl.doubtnut.com/l/_HVWKDzfVK6Qc
https://dl.doubtnut.com/l/_Lx9Vu77l9K8m


C. A conservation law cannot be proved.

D. Conservation of energy,linear

momentum, angular momentum are

considered to be fundamental laws pf

physics.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_Lx9Vu77l9K8m


3. Which of the following physical quantities is

not conserved?

A. Energy

B. Linear Momentum

C. Force

D. Mass

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_iUCN6PP7fnjc
https://dl.doubtnut.com/l/_QKG0GIXEA89r


Assertion And Reason

4. चन्द्रमा पर गुरुत्वाकर्षण के  कारण त्वरण है ?

A. पृथ्वी का 

B. पृथ्वी के  सामान

C. पृथ्वी का 

D. पृथ्वी का 

Answer: A

Watch Video Solution

( )
th1

6

( )
rd1

3

( )
th

1

5

https://dl.doubtnut.com/l/_QKG0GIXEA89r
https://dl.doubtnut.com/l/_58AMCf9iEtkS


1. Assertion : In physics, we attempt to derive

the properties of a bigger, more complex

system from the properties and interaction of

its constituent simpler parts. 

Reason : This approach is called unification

and is at the heart of physics.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

https://dl.doubtnut.com/l/_58AMCf9iEtkS


B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

View Text Solution

2. CLASSICAL PHYSICS

https://dl.doubtnut.com/l/_58AMCf9iEtkS
https://dl.doubtnut.com/l/_PPvhgWGlwDlY


A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PPvhgWGlwDlY


3. Assertion : The elastic spring force arises

due to the net attraction or repulsion

between the neighbouring atoms of the

spring when it is elongated of compressed. 

Reason : The laws of derived forces such as

spring force, friction force are independent of

the laws of fundamental forces in nature.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

https://dl.doubtnut.com/l/_PPvhgWGlwDlY
https://dl.doubtnut.com/l/_jZpJEsa6y7c0


B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_jZpJEsa6y7c0


4. Assertion : Electrostalic forces are attractive

as well as repulsive in nature. 

Reason : Charges are positive and negative in

nature.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

https://dl.doubtnut.com/l/_r1cyarcFeNrh


C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

5. Assertion : Electrons do not experience

strong nuclear force. 

Reason : Strong nuclear force is charge-

independent force.

https://dl.doubtnut.com/l/_r1cyarcFeNrh
https://dl.doubtnut.com/l/_6Y30bf2qd7mD


A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6Y30bf2qd7mD


6. Assertion : The basic laws of

electromagnetism govern all electric and

magnetic phenomena. 

Reason : The attempts to unify fundamental

forces of nature reflect the quest for

unification.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

https://dl.doubtnut.com/l/_6Y30bf2qd7mD
https://dl.doubtnut.com/l/_DZkAWGxdfsoz


B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_DZkAWGxdfsoz


7. Assertion : If we perform an experiment in

our laboratory today and repeat the same

experiment on the same objects under

identical conditions after a year, the results

are found to be the same . 

Reason : The laws of nature do not change

with time.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

https://dl.doubtnut.com/l/_TDtDJILx9rPU


B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_TDtDJILx9rPU


8. Assertion : In a nuclear process mass gets

converted into energy. 

Reason : According to Einstein's mass energy

equivalence relation, mass m is equivalent to

energy E, given by the relation 

where c is the speed of light in vacuum.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

E = mc2

https://dl.doubtnut.com/l/_vwezod4FaAK4


B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_vwezod4FaAK4


9. Assertion: The acceleration due to gravity

on the moon is one-sixth that on the earth. 

Reason : The law of gravitation is the same on

both the moon and the earth.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

https://dl.doubtnut.com/l/_w2XpI0avHtI5


C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

10. Assertion : A stone and a feather dropped

from the same height do not reach the

ground at the same time. 

Reason : Acceleration due to gravity is

dependent on the mass of the object.

https://dl.doubtnut.com/l/_w2XpI0avHtI5
https://dl.doubtnut.com/l/_TbZBrybzTVOy


A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TbZBrybzTVOy


https://dl.doubtnut.com/l/_TbZBrybzTVOy

